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Short answer questions/problems

1.  All other things being equal, how would a drop in personal tax rates affect the optimal capital structure for the typical firm?

Increase optimal amount of debt

2.  What does the Pecking Order theory suggest is the preferred type of funding for a firm?

Internal funds

3.  How does the existence of personal taxes affect the optimal amount of dividends paid by the typical firm?

Reduces

4.  According to the signaling theory of dividends, what should happen to the average firm’s stock price when it announces a cut in dividends?

Fall

5.  Assume that Mordor Corp. is considering a new project.  What problems might Mordor encounter if they plan to estimate the beta of the project by calculating the average asset beta for firms in the same industry as the project being considered?

New project may be to different from existing firms, project likely riskier than established firms.

6.  What are two things that make it difficult to estimate the beta for a real asset based on the historical returns on similar real assets?

Two of:  must be actively traded, small sample problems, beta may have changed

7.  What is the preemptive right?

Right to buy new stock in proportion to current ownership

8.  What are two basic services of an investment banker?

Two of: Advice, underwriting, marketing of issue

9.  Under what conditions might profitability index help in deciding which projects to undertake?

Capital rationing

10.  As a result of building a new factory, Aragorn Inc. estimates that a year from today, accounts receivable will increase from $300 million to $350 million, inventory will increase from $500 million to $600 million, and accounts payable will increase from $200 million to $230 million.  If Aragorn’s marginal tax rate is 35%, how should these changes affect the firm’s incremental cash flow a year from today (for making a capital budgeting decision)?

Change in net working capital = (350 – 300) + (600 – 500) – (230 – 200) = + 120

Decrease by $120 million
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Problems/Essays

1.  Considering only tax issues, discuss the conditions might a firm decide that stockholders would benefit if the firm were to issue debt and use the proceeds to repurchase shares of common stock.  Also discuss how these actions would benefit the stockholders.

If the corporation expects to save more in corporate taxes than bondholders pay in personal taxes, stockholders will gain from an increase in leverage since the cash flows are worth more to the bondholders than to the stockholders.  The two most likely reasons that the firm would expect to save a significant amount of corporate taxes would be that the firm has high expected earnings so that expects to be able to use the tax shield or stable earnings so that high probability that interest can be deducted.

2.  Strider Inc. has 4 stockholders:  Frodo owns 100,000 shares, Gandalf owns 250,000 shares, Sam owns 50,000 shares, and Boromir owns 200,000 shares.  Strider’s current market value is $50 per share but intends to buy back 200,000 shares at $70 per share.  

a.  What will be the price per share of Strider after the repurchase?

b.  How will Sam’s wealth change due to the repurchase if Strider repurchases the shares via a tender offer and everyone acts in their own best interest?

c.  If Strider repurchases the shares through transferable put rights, how much will receive if he sells all of his puts?  Note:  Assume that Strider issues one put per outstanding share, that there are no taxes, and that all puts expire immediately.

a.  Value of firm before = (100,000+250,000+50,000+200,000)(50) = 30,000,000

Value of firm after = 30,000,000 – (200,000 x 70) = 16,000,000

Price per share = 
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b. Number of shares offered = 100,000 + 200,000 + 50,000 +200,000= 550,000

Prorate = 
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Shares can sell = 18,182

Wealth = 18,182(70) + (31,818)(40) = 2,545,460

Change = 2,545,460 – (50,000)(50) = +45,460

c.  Number of puts = 
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Value per put = 
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Cash flow = 50,000(10) = $500,000
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3.  Bilbo Rings Inc. is considering undertaking a project that would require an investment in plant and equipment of $250,000.  The project is expected to produce net cash flows over its 10-year life that will have a present value of $260,000.  If the project’s revenues exceed expectations, the project can be expanded at any time over the next 4 years at a cost of $100,000.  The expansion is expected to generate net cash flows through 9 years from today with an expected present value of $95,000.  The standard deviation of returns on the firm’s existing assets is 37%.  However, the project and the expansion are both riskier than the firm’s existing assets.  Bilbo estimates that the standard deviation of returns on the project is 40% and the standard deviation of returns on the expansion is 48%.  The APR on Treasury securities depends on the maturity of the Treasury as follows:  1-year = 1.76%, 4-year = 3.90%; 9-year = 5.04%; 10-year = 5.23%; 30-year = 5.26%.  What is the impact of undertaking this project on the value of the firm?
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Impact on firm value = 260,000 – 250,000 + 38,196.62 = 48,196.62

4.  Elrond Inc. has recently emerged from a period of growth in which the company’s assets and sales grew very rapidly.  However, growth has begun to slow as fewer positive NPV projects are available to the firm.  As a result, the firm has for the first time begun to generate more cash flow than it needs for investment purposes.

a.  How has this change affected stockholder/manager conflicts within Elrond?

b.  What can stockholders do to reduce these conflicts within the firm?

a.  Increased conflict for several reasons:  1)  management will begin to waste surplus cash, possibly on excessive growth, 2) management will feel less motivated since the large cash flow provides a cushion, and 3) management will be tempted to increase perks and pay.

b.  Stockholders can reduce these problems by:  1)  increasing debt and repurchasing stock so that the surplus cash will be absorbed by debt service and will thus keep management’s feet to the fire, 2) give management incentive pay like an EVA bonus so that benefit from working hard and from limiting selves to positive NPV projects, 3) give options or stock to management so that managers benefit from increases in stock prices, 4) increase dividends to pay out the surplus cash
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5.  Pippin Inc. (which has assets with a market value of $140 million and a book value of $100 million) and Merry Corp. (which has assets with a market value of $210 million and a book value of $120 million) are planning to merge.  Pipin estimates that the expected return on its assets is 15% and that the standard deviation of returns on these assets is 34%.  Pipin also estimates that the beta of its assets is 1.2.  Merry estimates that the expected return on its assets is 18% and that the standard deviation of returns on these assets is 41%.  Merry also estimates that the beta of its assets is 1.4.  Analysts estimate that the two firms have a correlation between the returns on their assets of 0.75.

a.  What will be the expected return on the assets of the combined firm (Merry Pippin)?

b.  What will be the standard deviation of returns on the assets of the combined firm?

c.  What will be the beta of the assets of the combined firm?

d.  Without doing any calculations, discuss how your answers in parts “a” through “c” would be affected if the correlation were 0.20 rather than 0.75.

a.  
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b.  
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c.  
[image: image12.wmf](

)

(

)

(

)

(

)

32

.

1

4

.

1

6

.

2

.

1

4

.

=

+

=

b


d.  Only b would change.  Standard deviation would be lower.

6.  Your boss at Faramir Corp. has asked you how EVA adjusts accounting earnings and why anyone would think such adjustments are necessary.  How do you respond?

It adjusts accounting earnings in a couple of ways:

1)   Subtracts a capital charge equal to accounting assets times the firm’s cost of capital

This adjusts accounting earnings so that it is consistent with the time value of money.

Key => accounting assets equals the net amount of spending that has not yet been recognized for accounting purposes.  This amount is being pushed to future periods for accounting purposes without recognizing the time value of money.

2)  Adjusts net income to generate better measure of performance

Focuses on ongoing operations of the firm

Does not amortize goodwill

Does not expense Research and Development, but capitalizes then amortizes over the useful life.
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7.  Treebeard & Co. is considering building a new factory that will have a beta of 1.1 and which will require an investment  of $60 million today and $40 million a month from today.  The land on which the factory will be built was purchased several years ago for $5 million and could be sold today for an after-tax cash flow of $6.5 million.  Four months from today, the factory is expected to generate a net, after-tax cash flow of $950,000.  After this initial cash flow, net cash flows are expected to grow by 12% per month through a year from today.  After that, net cash flows are expected remain stable (no growth) through 5 years from today.  At that point, the factory will be closed and sold for an after-tax cash flow of $15 million.  The return on T-bills is 2.3% and the market risk premium is 7.3%.  How will building the factory affect the value of Treebeard & Co.?  Should they build the factory?

r = 2.3+1.1(7.3) = 10.33
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NPV = 106,508,924.58 – 106,173,652.94 = 335,271.54

=> Should build
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